FARELAFRISTHREFEAR EOHRTE

3 : NSBYST (Em2947A18 (1)
R 2FERD 7EBDHIS)

: KRB RSEG)

1 2 3 4 5 6 7 8 =1 E
ZHTE 6 4 0 1 0 4 4 5 24 -
MRLESHKES 5 3 0 1 0 2 4 4 19 | ©
NSB 0 3 0 1 1 0 6 0 11 3
LT 0 5 2 2 2 0 8 2 21 -
[BFF] <MMUHEBKRER> wF:HEA 1BF
1| M@ K& 1E | 2@ | 3E | 4E | 5E | 6[ 7mE 8[a] 8 | &4 | 1w | B8 | &K
1 9 BERERE HED | AR | PR =10 Al AEl | R 7 4 1 1
2 7 FHEEKES | —E | @@l —I1'0 kRl | AR T 5 3
3 3 52PN A= | BF Yk gD |, PoEk ok 3 3 3
B D Mieifs = | &R Pasiid EZ | =i 5 2 2
H FFHSRT = 1
5 5 JNHEMR  |HElxa| 510 Uk W10 | Bk = 4 1 2
6 2 JKEE—ER | =R | E#is . wAR | Bk Ewi 4 3 4 1
7 4 SRS gD | 510 Fh7Re =Tz ST A 6 4 1 1
8 6 [z M= HED Vw3 10| R | ARl A 6 3 3
9 8 AR T =ix fE@) =7 #10 | =R 5
8 ARATHER Ehil 1 1 1
X1ZEHOUT "F AR RFEE
[1&F] <MFLHEBKRRR>
K& Bl 18 |9RE| RIT | e | 83T |MOSEER| =R | Kk (BESR| (BREF] FEAXE
FREALE 6m@1/3 37 | 131 | 15 | (3) 2 2 5 9 (Z&847]1 R KB #
WEALE 1[E12/3 10 | 49 6 2 (=847]1 #
(R24T] EBER. =
[#F] <HMMUHEEIKRESR>
K& RER 1RIGE R &%
JKEE—EB
[B¥F] <NSBOIST> e N
T | <HM@é K& 1E | 2E | 3E | 4E | 5@ | 6ME 708 8[8 I8 | =T | I | B8 | &K
L 4 A =& | Al =i | —1'0 4 1 1
H.4 vz 10 i 2 1
2 6 E[d:z] —1'0| =& ek =10 =@l =R 5 1
3 9 ES =R hEl | Al R | e 5 3
4 5 V1t Eal | £R | ER R | Al 4 2 2 1
5 3 B A\l | &R | =10 R | A 5 3 1
6 D LA aX | = A aEX | PR 5 3 4
; 2 Z2p 0 = 1
H.7 KN PoER a= E] = 3 2
7.2 il =iE | =10 R Al el 2 4 2 1 1
8 HRZE b1} Eml | =R aX —1'0 5 3 3
[#%F] <NSBOIZT>
K4 [E12% 1THE || =47 | 2w | 1837 (MIER| = % |BEA| (BEEEF) mR
PR 1@ 12 | 47 2 1 8 6 <33 ) N
HH 4[@| 19 | 69 2 2 2 [=847]
aEs 1[E11/3 8 34 1 1 1 2 (RBHT]  LAX2. FE
FPATH 1/3ME 3 17 2 1 2 2
SR 1[E1/3 13 | 50 7 1 1 2 6 0
[#F] <NSBOIZT>
K& IR IRIE Bt &H2F
B 3
b




